

LIVINGSTONE RANGE SCHOOL DIVISION NO. 68 TRUSTEES MONTHLY CLAIM FORM

John McKee

September

Livingstone Range

For the Month of

Trustee's Name

20 17

Remuneration for Board Meetings, Committee Meetings, ASBA Meetings, Etc. Nature of Honorarium Km Meals Lodging Date Meeting or Dutles Hours Rate/Hr Amount Driven \$29.21 \$29.21 September 6, 2017 Special Board Meeting 1.00 September 8, 2017 Conference Call Meeting 1.00 \$29.21 \$29.21 \$58.42 40.00 2.00 \$29.21 September 12, 2017 Stavely Parent council \$146.05 200.00 September 15, 2017 ATA Induction - Pincher Creek 5.00 \$29.21 Monthly Soard Meeting 7.50 \$29.21 \$219.08 September 19, 2017 \$350.52 September 21, 2017 Issues Form - Calgary 12.00 \$29.21 \$58.42 40.00 September 21, 2017 Granum Parent Council 2.00 \$29.21 8.00 \$29,21 \$233.68 250.00 September 22, 2017 Issurs Form - Galgary September 27,2017 A B Daley Parent Council 3.00 \$29,21 \$87.63 80.00 \$0.00 \$29.21 \$29.21 \$0.00 \$29.21 \$0.00 \$0.00 Totals 41.50 \$1,212.22 610.00 \$0.00 Miscellaneous Expenses Not Included Above

Total of Miscellaneous Expenses	\$0

P. 6	Nature of		Honorariu	m	Km	Meals	Lodging
Date	Meeting or Dutles	Hours	Rate/Hr	Amount	Driven		
			\$29.21	\$0.00		114	
· . ·			\$29.21	\$0,00			
			\$29.21	\$0,00			
			\$29.21	\$0,00			
<u></u>	Totals	0.00		\$0.00	0.00	\$0.00	\$0.00

	Professio	onal Development Expenses Not Inclu	ded Above			<u> </u>	
		Total of Professional Development E	xpenses				\$0.00
N	mal.	Luf.	i d		Meats Allow	ance	
- FOR	Trustee's Signature	Reviewee by Assoc Supt Business S	Services		Breakfast - Lunch -	\$ \$	10.00 12.00
U	Haster a digitatio		\bigcirc		Supper -	<u> </u>	25.00
	Per Diem Amount	For Office Use Only	F	\$808.18 \$404.03	[code 70 honorarium] [code 71 Allowance]		
	Kilometerage	610.00 km @ \$0.505	\$308.05		foodo 111 montariool		
	Expenses		\$0.00	\$308.05	[code 77]		
		Total		\$1,520.27	PAID	-00-	[05
	and a state of a course at sets	For Office Use Only - PROFESSIONAL DEVELOPMENT	Г	\$0.00	[code 73 honorarium]		
	Per Diem Amount - (1-281-40010)	Construction of the Physical Academic State and Construction and Antiparticles and the Construction of the Construction of the Construction of the Construction of the Construction of the Construction of the Construction of the Construction of		\$0.00	[code 74 Allowance]		
2010/01010	Kilometerage	0.00 km @ \$0.505	\$0.00	6 A 6 A .			
686260	Expenses - (1-089-000-026-02)		\$0.00	\$0.00	[code 78]		
이 한 것 같은 것	이 영어가 중 것이라 가지 않는 것이다.	Total	8 8 8 E	\$0.00			



LIVINGSTONE RANGE SCHOOL DIVISION NO. 68 TRUSTEES MONTHLY CLAIM FORM

10664

Livingstone Range

Trustee's Name

John McKee

For the Month of O

October

20 17

Remuneration for Board Meetings, Committee Meetings, ASBA Meetings, Etc. Nature of Honorarium Km Meals Lodaina Date Meeting or Duties Rate/Hr Hours Amount Driven Oct 4th 2017 J T Foster School Council - Nanton 2,50 \$29,21 \$73.03 80.00 October 13, 2017 Regional Council of Student Leaders - Meal Preparation - Ft Macleod 3.50 \$29.21 \$102,24 80,00 October 17, 2017 Pro-organizational Meeting - Claresholm 5.00 \$29.21 \$146.05 0,00 October 17, 2017 Art Gala - Claresholm \$29,21 \$87,63 0.00 3,00 October 19, 2017 Granum School Council 3.00 \$29.21 \$87,63 50.00 October 20, 2017 Divisional Day - Pincher Creek \$29.21 \$233.68 200.00 8.00 Oct 24th, 2017 6.00 \$29.21 Monthly Meeting - Organizational and Regular Board Meeting \$175.26 0.00 Oct 25th, 2017 A B Daley School Council - Nanton \$29.21 2.50 \$73.03 80.00 October 26, 2017 80.00 Wisdom and Guidance - Fort Macleod 4.00 \$29,21 \$116.84 \$29.21 \$0.00 \$29,21 \$0.00 \$29.21 \$0,00 37.50 Totals \$1,095.38 570.00 \$0.00 \$0.00 **Miscellaneous Expenses Not Included Above Total of Miscellaneous Expenses** \$0.00 Remuneration for Professional Development Meetings, Conventions, Workshops, Etc. Nature of Honorarium Km Meals Lodging Date Meeting or Duties Hours Rate/Hr Driven Amount \$29.21 \$0.00 \$29,21 \$0.00 \$29.21 \$0.00 \$29.21 \$0.00 \$0.00 Totals 0.00 0.00 \$0.00 \$0.00 Professional Development Expenses Not Included Above Total of Professional Development Expenses \$0.00 Meals Allowance were Breakfast 10.00 Trustee's Signature Reviewed by Assoc. Supt) Business Services Lunch 12.00 Supper 25.00 For Office Use Only \$730.29 [code 70 honorarium] Per Diem Amount \$365.09 (code 71 Allowance) Kilometerage 570.00 \$287,85 kт \$0.505 \$0.00 Expenses \$287.85 [code 77] Total \$1,383.23 For Office Use Only . PROFESSIONAL DEVELOPMENT \$0.00 (code 73 honorarium) Per Diem Amount - (1-281-400- -10) (code 74 Allowance) \$0.00

PAID NOV 03 2017



LIVINGSTONE RANGE SCHOOL DIVISION NO. 68 TRUSTEES MONTHLY CLAIM FORM

John McKee

Livingstone Range

Date

November 7th 2017

For the Month of

Nature of

Meeting or Duties

Trustee's Name

Stavely School Council

November

20 17 Remuneration for Board Meetings, Committee Meetings, ASBA Meetings, Etc. Honorarium Km Meals Hours Rate/Hr Amount Driven 2.50 \$29.21 \$73.03 50.00

Lodging

	Totals	58.50		\$1,708.79	470.00	\$0.00	\$0.00
		0.00	\$29.21	\$0.00			
		0.00	\$29.21	\$0.00			
November 29th, 2017	A B Daley School Council Nanton	3,50	\$29.21	\$102.24	80,00		
November 28th, 2017	Regional School Council - Nanton	3,00	\$29.21	\$87.63	80.00		
November 21st, 2017	ASBA - FGM and Travel from Edmonton	12.00	\$29.21	\$350.52	0.00		
November 20th, 2017	ASBA - FGM	9.00	\$29.21	\$262.89	0.00		
November 19th, 2017	Governance Meeting - Edmonton and Edwin Parr Awards	6.00	\$29.21	\$175.26	0.00		
November 18th, 2017	Governance Meeting - Edmonton	9.00	\$29.21	\$262.89	0.00		
November 14th, 2017	Monthly Meeting	7.50	\$29.21	\$219.08	0.00		
November 10th, 2017	Nanton - Remembrance Day	2.00	\$29.21	\$58.42	80.00		
November 8th, 2017	Zone 6 Meeting - Lethbridge	4.00	\$29.21	\$116.84	180.00		

	Miscellaneous Expenses Not Included Above	
-	· · · · · · · · · · · · · · · · · · ·	
	Total of Miscellaneous Expenses	\$0.00

	Remuneration for Professional Development Meet	ings, Conve	ontions, W	/orkshops, E	itc.		
Date	Nature of Meeting or Duties	Honorarium Hours Rate/Hr Amount		Km Driven	Meals.	Lodging	
November 16th, 2017		4,00		\$116.84	100.00		
November 17th, 2017	FNMI Education Conference - Calgary	5.00	\$29.21	\$146.05			
November 27th, 2017	CASS - Residential School Seminar - Calgary	10.00	\$29.21	\$292.10	200.00		
			\$29.21	\$0,00			
	Totals	19,00		\$554.99	300.00	\$0.00	\$0.00

	Profess	ional Development Expenses	Not Included	Above			
November 16th, 2017	Cost of FNMI Education Conference						\$325.00
November 27, 2017		Cost of CASS Conference					
		Total of Professional Develo	opment Expe	nses			\$350.00
	Trustee's Signature	Reviewed by ssoc. Supt.	Business Servi	ces	Meals Al Breakfast - Lunch - Supper -	lowance \$ \$ \$	10.00 12.00 25.00
	Per Dlem Amount Kilometerage Expenses	For Office Use Only) \$0.505 \$	\$1,139.25 \$569.54 \$237.35 \$0.00 \$237.35 \$1,946.14	[code 70 honorarium] [code 71 Allowance] [code 77]		
sforms master filefousiness/trus	Per Diem Amount - (1-281-40010) Kilometerage Expenses - (1-089-000-028-02)	For Office Use Only - PROFESSIONAL DE	9 \$ 0.505 \$	\$370.01 \$184.98 (151.50) (\$1056.49) \$1,056.49	[code 73 honorarium] [code 74 Allowance] A D D [code 78]	DEC (1 5 2017



Purchase Receipt

1 message

FNMIEC <noreply@atapd.ca> To: JohnMcKee <mckeejo@irsd.ab.ca> John Mckee <mckeejo@lrsd.ab.ca>

Sat, Jan 20, 2018 at 1:27 PM



Receipt for Order 59f3f164b74cec5a6894eace Thank you for your recent purchase from First Nation, Métis a Council! Please keep this receipt for your records.	and Inuit Ec	lucation
Description		Price
Event Ticket Ineligible for Specialist Council Membership		\$650.00
Specialist Council Membership I am NOT an active, regular or associate member of the ATA, NOT FNMIEC member and NOT a student. Please register me for a subscription membership. (support staff, counsellors, education assistants, etc.)	Га	\$35.00
Cancellation Policy I have read and understand the cancellation policy.		\$0.00
	SUBTOTAL TAX EFUNDED	\$685.00 \$0.00 \$325.00
	TOTAL	\$360.00 -3500 Membership

Mail

Starred

Sent Mail

Drafts (19)

News Feed

6

Chats

COMPOSE

Conversation Action S...

~ ···

Bradley Toone

CRSD Trustees 2015

You were in a video c

Sent a message

╋

Junk E-mail (50)

John

Inbox (1,674)

More

1

You have been registered for a program at The Calgary Regional Cc

Calgary Regional Consortium <register@crcpd.ab.ca>

to me

7

John McKee, thank you for registering for a learning opportunity offered by the Calgary R summary of your registration:

REGISTRATION CONFIRMATION

Name Email Authority School Phone Cost John McKee <u>mckeejo@lrsd.ab.ca</u> Trustee Livingstone Range School Division (403) 489-0093 \$25.00

Foundational Knowledge – Residential Schools and Their Legacy - Invite On

Session 1 Date Time Presenter(s)

November 27, 2017 9:00 AM - 3:30 PM Charlene Bearhead